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Pythagorean Inequality Theorem 8.7

Fill in the blanks.

Words  [f the square of the length of the longest side of a triangle is
than the sum of the squares of the lengths of the

other two sides, then the triangles is an triangle.

B

Symbols If2 a2 b2, then AABC is
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Determine whether each set of numbers can be the measures of the sides
of a triangle. If so, classify the triangle as acute, right, or obtuse. Justify your
answer.

a. 9,12,and I5 b. 10,11,and I3
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Determine whether each set of numbers can be the measures of the sides
of a triangle. If so, classify the triangle as acute, right, or obtuse. Justify your
answer.

A 11,60,61 B. 243,442, 35
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Vocabulary

Pythagorean triple n.
a group of three whole numbers that satisfies the equation a2 + b2 = ¢2
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Common Pythagorean Triples

Fill in the blanks and the table.

A Pythagorean triple is a set of three

L:1 Key Concept

numbers, g, b, and c,

such that
Common Pythagorean Triples
3,4,5 512,13 8,15,17 7,24,25
6,8,10 16,30, 34
15,36,39

3x, 4x, 5x

7x, 24x, 25x
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Show how to use a Pythagorean triple to find x. Explain your reasoning.

A 48 B. 50

20 14 X
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A 20-foot ladder is placed against a building to reach a window that is
16 feet above the ground.

How many feet away from the building is the bottom of the ladder?
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Converse of the Pythagorean Theorem

Fill in the blanks.

Words  [f the of the squares of the lengths of the shortest
sides of a triangle is equal to the of the length of
the longest side, then the triangle is a right triangle.

B

,then AABCis a <

a

Symbols If +
right triangle.
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Pythagorean Inequality Theorem 8.6

Fill in the blanks.

Words  [f the square of the length of the longest side of a triangle is
than the sum of the squares of the lengths of the

other two sides, then the triangle is an triangle.

Symbols If2 a2 b2, then AABC is a




